Grade 5 – Walk-a-thon Rubric

3 Score:

Students are able to come up with a combination such that each student walks at least 1 mile and the total $ they earn = $90.  All operations are correct.

2 Score:  

Students use the correct operations.  They choose the miles walked, multiply to get the total dollars earned, and add to find the final total.  1 criteria may be missing, such as 1 student does not walk at all, or the final total does not = $90.  This should not be off by +/- 10.  

1 Score:

a. Students use the correct operations but find a total that is more than 10 away from a final total of $90.  

b. Students do only one operation correctly

0 Score:

Students use the wrong operations, or show no understanding of the problem.  

